
 

 

 

Vassiliev Invariants 

(Knot parametrization) 

Part I 

 

Evert Stenlund  



𝟑𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥3.1  

𝒗𝒐𝒅𝒅 = ±𝑦3.1  
 

𝒗𝟐  𝑥3.1  

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  𝑥3.1  

𝒗𝟓  ±𝑦3.1  

𝒗𝟔  𝑥3.1  

 

 

 

  



𝟒𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥4.1  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  𝑥4.1  

𝒗𝟓  0 

𝒗𝟔  𝑥4.1  

 

 

 

 

  



𝟓𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥5.1  

𝒗𝒐𝒅𝒅 = ±𝑦5.1  
 

𝒗𝟐  3𝑥3.1  

𝒗𝟑  ±5𝑦3.1  

𝒗𝟒  𝑥5.1  

𝒗𝟓  ±𝑦5.1  

𝒗𝟔  𝑥5.1  

 

 

 

 

  



𝟓𝟐:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥5.2  

𝒗𝒐𝒅𝒅 = ±𝑦5.2  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  ±3𝑦3.1  

𝒗𝟒  𝑥5.2  

𝒗𝟓  ±𝑦5.2  

𝒗𝟔  𝑥5.2  

 

 

 

  



𝟔𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥6.1  

𝒗𝒐𝒅𝒅 = ±𝑦6.1  
 

𝒗𝟐  −2𝑥3.1  

𝒗𝟑  ∓𝑦3.1  

𝒗𝟒  −𝑥5.2 + 4𝑥4.1 + 4𝑥3.1  

𝒗𝟓  ±𝑦6.1  

𝒗𝟔 𝑥6.1 
 

 

 

 

  



𝟔𝟐:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥6.2  

𝒗𝒐𝒅𝒅 = ±𝑦6.2  
 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  ∓𝑦3.1  

𝒗𝟒  𝑥5.2 − 𝑥5.1 + 3𝑥4.1 + 3𝑥3.1 
𝒗𝟓  ±𝑦6.2  

𝒗𝟔 𝑥6.2 
 

 

 

 

  



𝟔𝟑:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥6.3  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  −2𝑥5.2 + 𝑥5.1 − 𝑥4.1 + 𝑥3.1 
𝒗𝟓  0 

𝒗𝟔 𝑥6.3 
 

 

 

 

 



𝟔𝟑.𝟏#𝟑.𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥3#3  

𝒗𝒐𝒅𝒅 = 𝑦3#3  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  ±2𝑦3.1  

𝒗𝟒  −3𝑥5.2 + 𝑥5.1 + 𝑥4.1 + 6𝑥3.1 
𝒗𝟓  ∓(2𝑦6.2 − 4𝑦6.1 + 2𝑦5.2 − 10𝑦3.1) 

𝒗𝟔 
1

8
(−20𝑥7.7 + 35𝑥7.6 − 10𝑥7.5 + 8𝑥7.3 − 13𝑥7.2 + 19𝑥6.3 − 33𝑥6.2

+ 22𝑥6.1 − 38𝑥5.2 + 15𝑥5.1 + 7𝑥4.1 + 30𝑥3.1) 
 

 

  



𝟔𝟑.𝟏#𝟑.𝟏̅̅ ̅̅ :  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥3#3̅  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  −3𝑥5.2 + 𝑥5.1 + 𝑥4.1 + 6𝑥3.1 
𝒗𝟓  0 

𝒗𝟔 
1

8
(−36𝑥7.7 + 3𝑥7.6 − 10𝑥7.5 + 8𝑥7.3 + 3𝑥7.2 + 19𝑥6.3 − 33𝑥6.2

+ 6𝑥6.1 − 54𝑥5.2 − 𝑥5.1 + 87𝑥4.1 + 126𝑥3.1) 
 

 

 

 

 

 

 

 

  



𝟕𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.1  

𝒗𝒐𝒅𝒅 = ±𝑦7.1  
 

𝒗𝟐  6𝑥3.1  

𝒗𝟑  ±14𝑦3.1  

𝒗𝟒  5𝑥5.1 − 9𝑥3.1 
𝒗𝟓  ±(7𝑦5.1 − 21𝑦3.1) 

𝒗𝟔 𝑥7.1 
 

 

 

 

 

  



𝟕𝟐:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.2  

𝒗𝒐𝒅𝒅 = ±𝑦7.2  
 

𝒗𝟐  3𝑥3.1  

𝒗𝟑  ±6𝑦3.1  

𝒗𝟒  4𝑥5.2 − 𝑥4.1 − 6𝑥3.1 
𝒗𝟓  ∓(𝑦6.1 − 5𝑦5.2 + 10𝑦3.1) 
𝒗𝟔 𝑥7.2 

 

 

 

  



𝟕𝟑:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.3  

𝒗𝒐𝒅𝒅 = ±𝑦7.3  
 

𝒗𝟐  5𝑥3.1  

𝒗𝟑  ±11𝑦3.1  

𝒗𝟒  3𝑥5.2 + 2𝑥5.1 + 𝑥4.1 − 6𝑥3.1 
𝒗𝟓  ±(𝑦6.2 + 4𝑦5.2 + 3𝑦5.1 − 15𝑦3.1) 
𝒗𝟔 𝑥7.3 

 

 

 

 

 

  



𝟕𝟒:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.4  

𝒗𝒐𝒅𝒅 = ±𝑦7.4  
 

𝒗𝟐  4𝑥3.1  

𝒗𝟑  ±8𝑦3.1  

𝒗𝟒  4𝑥5.2 + 2𝑥4.1 − 2𝑥3.1 
𝒗𝟓  ±(2𝑦6.1 + 6𝑦5.2 − 8𝑦3.1) 
𝒗𝟔 −5𝑥7.7 + 2𝑥7.6 − 2𝑥7.5 + 2𝑥7.3 + 2𝑥6.3 − 6𝑥6.2 + 2𝑥6.1

− 4𝑥5.2 − 𝑥5.1 + 10𝑥4.1 + 12𝑥3.1 
 

 

 

 

 

 

  



𝟕𝟓:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.5  

𝒗𝒐𝒅𝒅 = ±𝑦7.5  
 

𝒗𝟐  4𝑥3.1  

𝒗𝟑  ±8𝑦3.1  

𝒗𝟒  𝑥5.2 + 2𝑥5.1 − 𝑥4.1 − 5𝑥3.1 
𝒗𝟓  ∓(𝑦6.2 − 2𝑦5.2 − 2𝑦5.1 + 9𝑦3.1) 
𝒗𝟔 𝑥7.5 

 

 

 

 

  



𝟕𝟔:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.6  

𝒗𝒐𝒅𝒅 = ±𝑦7.6  
 

𝒗𝟐  𝑥3.1  

𝒗𝟑  ±2𝑦3.1  

𝒗𝟒  3𝑥5.2 − 𝑥5.1 − 2𝑥3.1 
𝒗𝟓  ∓(𝑦6.2 − 𝑦6.1 − 3𝑦5.2 + 𝑦5.1 + 2𝑦3.1) 
𝒗𝟔 𝑥7.6 

 

 

 

 

 

  



𝟕𝟕:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥7.7  

𝒗𝒐𝒅𝒅 = ±𝑦7.7  
 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  ∓𝑦3.1  

𝒗𝟒  −2𝑥5.2 + 𝑥5.1 
𝒗𝟓  ±(2𝑦6.2 − 2𝑦6.1 − 2𝑦5.2 + 𝑦5.1) 
𝒗𝟔 𝑥7.7 

 

 

  



𝟕𝟑.𝟏#𝟒.𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥3#4  

𝒗𝒐𝒅𝒅 = ±𝑦3#4  
 

𝒗𝟐  0 

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  3𝑥5.2 − 𝑥5.1 − 3𝑥3.1 
𝒗𝟓  ±(𝑦6.2 − 2𝑦6.1 + 𝑦5.2 − 3𝑦3.1) 
𝒗𝟔 1

8
(12𝑥7.7 + 𝑥7.6 + 2𝑥7.5 − 4𝑥7.3 + 5𝑥7.2 − 7𝑥6.3 + 17𝑥6.2

− 10𝑥6.1 − 6𝑥5.2 + 9𝑥5.1 − 7𝑥4.1 − 10𝑥3.1) 
 

  



𝟖𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.1  

𝒗𝒐𝒅𝒅 = ±𝑦8.1  
 

𝒗𝟐  −3𝑥3.1  

𝒗𝟑  ∓3𝑦3.1  

𝒗𝟒  −4𝑥5.2 + 10𝑥4.1 + 15𝑥3.1 
𝒗𝟓  ±(5𝑦6.1 − 𝑦5.2 + 5𝑦3.1) 
𝒗𝟔 −𝑥7.2 + 6𝑥6.1 + 6𝑥5.2 − 15𝑥4.1 − 15𝑥3.1 

 

 

 

 

 

  



𝟖𝟐:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.2  

𝒗𝒐𝒅𝒅 = ±𝑦8.2  
 

𝒗𝟐  0 

𝒗𝟑  ∓𝑦3.1  

𝒗𝟒  3𝑥5.2 − 3𝑥5.1 + 6𝑥4.1 + 9𝑥3.1 
𝒗𝟓  ±(4𝑦6.2 + 𝑦5.2 − 𝑦5.1 + 5𝑦3.1) 
𝒗𝟔 𝑥7.3 − 𝑥7.1 + 5𝑥6.2 − 5𝑥5.2 + 5𝑥5.1

− 10𝑥4.1 − 9𝑥3.1 
 

 

 

 

 

  



𝟖𝟑:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.3  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  −4𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  −4𝑥5.2 + 14𝑥4.1 + 18𝑥3.1 
𝒗𝟓  0 
𝒗𝟔 5𝑥7.7 − 2𝑥7.6 + 2𝑥7.5 − 2𝑥7.3 − 2𝑥6.3 + 6𝑥6.2 + 6𝑥6.1

+ 12𝑥5.2 + 𝑥5.1 − 26𝑥4.1 − 28𝑥3.1 
 

 

 

 

 

 

  



𝟖𝟒:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.4  

𝒗𝒐𝒅𝒅 = ±𝑦8.4  
 

𝒗𝟐  −3𝑥3.1  

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  𝑥5.2 − 2𝑥5.1 + 11𝑥4.1 + 12𝑥3.1 
𝒗𝟓  ∓(3𝑦6.2 − 2𝑦6.1 − 2𝑦5.2 + 𝑦5.1 + 𝑦3.1) 
𝒗𝟔 −𝑥7.3 + 𝑥7.2 + 4𝑥6.2 + 3𝑥6.1 − 𝑥5.2

+ 4𝑥5.1 − 11𝑥4.1 − 12𝑥3.1 
 

  



𝟖𝟓:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.5  

𝒗𝒐𝒅𝒅 = ±𝑦8.5  
 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  ∓3𝑦3.1  

𝒗𝟒  𝑥5.2 − 3𝑥5.1 + 9𝑥4.1 + 15𝑥3.1 
𝒗𝟓  ±(6𝑦6.2 − 2𝑦5.2 + 9𝑦3.1) 
𝒗𝟔 1

8
(44𝑥7.7 − 𝑥7.6 + 6𝑥7.5 − 𝑥7.2 − 8𝑥7.1 − 9𝑥6.3 + 91𝑥6.2 − 2𝑥6.1

− 14𝑥5.2 + 59𝑥5.1 − 197𝑥4.1 − 186𝑥3.1) 
 

  



𝟖𝟔:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.6  

𝒗𝒐𝒅𝒅 = ±𝑦8.6  
 

𝒗𝟐  −2𝑥3.1  

𝒗𝟑  ∓3𝑦3.1  

𝒗𝟒  −2𝑥5.1 + 9𝑥4.1 + 13𝑥3.1 
𝒗𝟓  ±(3𝑦6.2 + 2𝑦6.1 − 𝑦5.2 + 5𝑦3.1) 
𝒗𝟔 𝑥7.6 − 𝑥7.5 + 𝑥6.3 + 3𝑥6.2 + 3𝑥6.1

+ 3𝑥5.1 − 12𝑥4.1 − 12𝑥3.1 
 

  



𝟖𝟕:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.7  

𝒗𝒐𝒅𝒅 = ±𝑦8.7  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  ±2𝑦3.1  

𝒗𝟒  −5𝑥5.2 + 3𝑥5.1 − 3𝑥4.1 
𝒗𝟓  ∓(𝑦6.2 + 2𝑦5.2 − 𝑦5.1 − 2𝑦3.1) 
𝒗𝟔 −𝑥7.5 − 𝑥7.3 + 𝑥7.1 + 4𝑥6.3 − 𝑥6.2 + 8𝑥5.2

− 3𝑥5.1 + 4𝑥4.1 − 3𝑥3.1 
 

 

  



𝟖𝟖:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.8  

𝒗𝒐𝒅𝒅 = ±𝑦8.8  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  −4𝑥5.2 + 2𝑥5.1 − 𝑥4.1 + 3𝑥3.1 
𝒗𝟓  ∓(𝑦6.2 − 𝑦6.1 − 𝑦3.1) 
𝒗𝟔 −𝑥7.6 + 𝑥7.5 − 𝑥7.2 + 3𝑥6.3 + 𝑥6.2 − 𝑥6.1

+ 6𝑥5.2 − 3𝑥5.1 + 3𝑥4.1 − 2𝑥3.1 
 

  



𝟖𝟗:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.9  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  −2𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  4𝑥5.2 − 3𝑥5.1 + 8𝑥4.1 + 7𝑥3.1 
𝒗𝟓  0 
𝒗𝟔 2𝑥7.5 − 𝑥7.1 − 𝑥6.3 + 6𝑥6.2 − 6𝑥5.2

+ 5𝑥5.1 − 9𝑥4.1 − 9𝑥3.1 
 

 

 

 

 

  



𝟖𝟏𝟎:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.10  

𝒗𝒐𝒅𝒅 = ±𝑦8.10  
 

𝒗𝟐  3𝑥3.1  

𝒗𝟑  ±3𝑦3.1  

𝒗𝟒  −6𝑥5.2 + 3𝑥5.1 + 6𝑥3.1 
𝒗𝟓  ∓(3𝑦6.2 − 4𝑦6.1 − 4𝑦3.1) 
𝒗𝟔 

1

8
(−68𝑥7.7 + 15𝑥7.6 − 26𝑥7.5 + 8𝑥7.3 − 𝑥7.2 + 8𝑥7.1 + 63𝑥6.3 − 69𝑥6.2 + 14𝑥6.1

− 14𝑥5.2 − 29𝑥5.1 + 179𝑥4.1 + 150𝑥3.1) 
 

  



𝟖𝟏𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.11  

𝒗𝒐𝒅𝒅 = 𝑦8.11  
 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  ∓2𝑦3.1  

𝒗𝟒  𝑥5.2 − 2𝑥5.1 + 6𝑥4.1 + 9𝑥3.1 
𝒗𝟓  ±(𝑦6.2 + 3𝑦6.1 + 𝑦5.2 − 𝑦5.1 + 4𝑦3.1) 
𝒗𝟔 −4𝑥7.7 + 2𝑥7.6 − 2𝑥7.5 + 𝑥7.3 + 2𝑥6.3 − 2𝑥6.2 + 3𝑥6.1

− 5𝑥5.2 + 2𝑥5.1 − 𝑥4.1 + 𝑥3.1 
 

  



𝟖𝟏𝟐:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.12  

𝒗𝒐𝒅𝒅 = 0  
 

𝒗𝟐  −3𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  −4𝑥5.2 + 𝑥5.1 + 7𝑥4.1 + 9𝑥3.1 
𝒗𝟓  0 
𝒗𝟔 −𝑥7.7 − 2𝑥7.6 − 𝑥6.3 − 2𝑥6.2 + 4𝑥6.1

+ 4𝑥5.2 − 𝑥5.1 − 4𝑥4.1 − 4𝑥3.1 
 

  



𝟖𝟏𝟑:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.13  

𝒗𝒐𝒅𝒅 = ±𝑦8.13  
 

𝒗𝟐  𝑥3.1  

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  −3𝑥5.2 + 2𝑥5.1 − 3𝑥4.1 − 2𝑥3.1 
𝒗𝟓  ±(𝑦6.2 − 2𝑦6.1 − 2𝑦5.2 + 𝑦5.1 + 𝑦3.1) 
𝒗𝟔 5𝑥7.7 − 𝑥7.6 + 2𝑥7.5 − 𝑥7.3 − 𝑥7.2 + 𝑥6.3 + 5𝑥6.2

− 2𝑥6.1 + 10𝑥5.2 − 2𝑥5.1 − 7𝑥4.1 − 14𝑥3.1 
 

  



𝟖𝟏𝟒:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.14  

𝒗𝒐𝒅𝒅 = ±𝑦8.14  
 

𝒗𝟐  0 

𝒗𝟑  0 

𝒗𝟒  3𝑥5.2 − 2𝑥5.1 + 3𝑥4.1 + 3𝑥3.1 
𝒗𝟓  ±(3𝑦6.2 − 2𝑦6.1 + 𝑦3.1) 
𝒗𝟔 −𝑥7.7 − 𝑥7.6 − 𝑥7.5 + 𝑥7.2 − 𝑥6.3 + 𝑥6.2

− 2𝑥5.2 + 2𝑥5.1 − 𝑥4.1 
 

  



𝟖𝟏𝟓:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.15  

𝒗𝒐𝒅𝒅 = ±𝑦8.15  
 

 

𝒗𝟐  4𝑥3.1  

𝒗𝟑  ±7𝑦3.1  

𝒗𝟒  −4𝑥5.2 + 3𝑥5.1 + 𝑥4.1 + 4𝑥3.1 
𝒗𝟓  ∓(4𝑦6.2 − 7𝑦6.1 + 4𝑦5.2 − 2𝑦5.1 − 12𝑦3.1) 

𝒗𝟔 1

8
(−52𝑥7.7 + 79𝑥7.6 − 18𝑥7.5 + 16𝑥7.3 − 33𝑥7.2 + 31𝑥6.3 − 77𝑥6.2

+ 54𝑥6.1 − 78𝑥5.2 + 51𝑥5.1 − 13𝑥4.1 − 18𝑥3.1) 
 

  



𝟖𝟏𝟔:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.16  

𝒗𝒐𝒅𝒅 = ±𝑦8.16  
 

𝒗𝟐  𝑥3.1  

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  −3𝑥5.2 + 2𝑥5.1 − 3𝑥4.1 − 2𝑥3.1 
𝒗𝟓  ∓(4𝑦6.2 − 4𝑦6.1 − 2𝑦5.2 + 𝑦5.1) 
𝒗𝟔 1

8
(20𝑥7.7 + 5𝑥7.6 + 2𝑥7.5 − 8𝑥7.3 − 11𝑥7.2 + 8𝑥7.1 + 29𝑥6.3 + 𝑥6.2

− 6𝑥6.1 + 118𝑥5.2 − 55𝑥5.1 + 25𝑥4.1 − 46𝑥3.1) 
 

  



𝟖𝟏𝟕:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.17  

𝒗𝒐𝒅𝒅 = 0  
 

 

 

 

𝒗𝟐  −𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  3𝑥5.2 − 2𝑥5.1 + 4𝑥4.1 + 3𝑥3.1 
𝒗𝟓  0 
𝒗𝟔 1

8
(−28𝑥7.7 + 5𝑥7.6 + 2𝑥7.5 + 8𝑥7.3 + 5𝑥7.2 − 8𝑥7.1 − 11𝑥6.3 + 𝑥6.2

+ 10𝑥6.1 − 106𝑥5.2 + 49𝑥5.1 − 23𝑥4.1 + 18𝑥3.1) 
 

  



𝟖𝟏𝟖:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.18  

𝒗𝒐𝒅𝒅 = 0  
 

 

 

 

𝒗𝟐  𝑥3.1  

𝒗𝟑  0 

𝒗𝟒  𝑥5.2 − 𝑥5.1 + 2𝑥4.1 + 4𝑥3.1 
𝒗𝟓  0 
𝒗𝟔 

1

8
(−60𝑥7.7 + 13𝑥7.6 − 14𝑥7.5 + 16𝑥7.3 + 13𝑥7.2 − 8𝑥7.1 − 11𝑥6.3 − 47𝑥6.2

+ 26𝑥6.1 − 186𝑥5.2 + 65𝑥5.1 + 25𝑥4.1 + 138𝑥3.1) 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

𝟖𝟏𝟗:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.19  

𝒗𝒐𝒅𝒅 = ±𝑦8.19  
 

𝒗𝟐  5𝑥3.1  

𝒗𝟑  ±10𝑦3.1  

𝒗𝟒  −5𝑥5.2 + 5𝑥5.1 
𝒗𝟓  ∓(6𝑦6.2 − 8𝑦6.1 + 4𝑦5.2 − 4𝑦5.1 − 4𝑦3.1) 

𝒗𝟔 
1

8
(−84𝑥7.7 + 95𝑥7.6 − 26𝑥7.5 + 16𝑥7.3 − 33𝑥7.2 + 8𝑥7.1 + 55𝑥6.3 − 117𝑥6.2

+ 62𝑥6.1 − 94𝑥5.2 + 27𝑥5.1 + 83𝑥4.1 + 78𝑥3.1) 
 

 

 

 

 

  



𝟖𝟐𝟎:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.20  

𝒗𝒐𝒅𝒅 = ±𝑦8.20  
 

𝒗𝟐  2𝑥3.1  

𝒗𝟑  ∓2𝑦3.1  

𝒗𝟒  −2𝑥5.2 + 𝑥5.1 + 3𝑥3.1 
𝒗𝟓  ±(3𝑦6.2 − 4𝑦6.1 − 2𝑦5.2 + 𝑦5.1 − 2𝑦3.1) 
𝒗𝟔 1

8
(−36𝑥7.7 + 15𝑥7.6 − 10𝑥7.5 + 8𝑥7.3 − 𝑥7.2 + 23𝑥6.3 − 37𝑥6.2

+ 14𝑥6.1 − 46𝑥5.2 + 3𝑥5.1 + 59𝑥4.1 + 78𝑥3.1) 
 

 

 

 

 

  



𝟖𝟐𝟏:  
 

𝒗𝒆𝒗𝒆𝒏 = 𝑥8.21  

𝒗𝒐𝒅𝒅 = ±𝑦8.21  
 

𝒗𝟐  0 

𝒗𝟑  ±𝑦3.1  

𝒗𝟒  −𝑥5.1 + 3𝑥4.1 + 6𝑥3.1 
𝒗𝟓  ∓(2𝑦6.2 − 𝑦5.2 + 4𝑦3.1) 
𝒗𝟔 1

8
(12𝑥7.7 − 𝑥7.6 − 2𝑥7.5 − 𝑥7.2 − 𝑥6.3 + 19𝑥6.2 − 2𝑥6.1 + 10𝑥5.2

+ 3𝑥5.1 − 29𝑥4.1 − 18𝑥3.1) 
 

 

 

  



 


